Example RE7-3
type LEP_RE7_3  

% "LEP_RE7_3"

% m-file to solve Example RE7-3

%

% x(1)=Rs

% x(2)=RTi

% x(3)=Cs

% x(4)=LTi

% 

% xdot(1)=d(Rs)/dt, xdot(2)=d(RTi)/dt, xdot(3)=d(Cs)/dt, xdot(4)=d(LTi)/dt

function xdot=LEP_RE7_3(t,x)

kf = 7.2e7 ;

kr = .34 ;

keR = .03 ;

keC = .165 ;

krec = .058 ;

kdeg = .0022 ;

Vs = .013 ;

fR = .5 ;

fL = .5 ;

L = 1e-8 ;

Navgo = 6.022e23 ;

kfP = 0 ;

xdot(1,:) = -kf*x(1)*L+kr*x(3)-keC*x(1)+(krec*(1-fR)*x(2))+Vs ;

xdot(2,:) = keR*x(1)+keC*x(3)-(krec*(1-fR)*x(2))-kdeg*fR*x(2) ;

xdot(3,:) = kf*L*x(1)-kr*x(3)-keC*x(3) ;

xdot(4,:) = keC*x(3)+kfP*L*Navgo-(krec*(1-fL)*x(4))-kdeg*fR*x(2) ;

ic=[5e4;0;0;0]; tspan=[0 50];  
[t,x]=ode45('LEP_RE7_3',tspan,ic);  

plot(t,x); title('Example 8-4');xlabel('t');ylabel('Rs,RTi,Cs,LTi');    
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